UReT IV

- - - - - - - - - - - - bk '8
g95 - 695 ovy - (o144 ovy - (1]47 v8€2 - v8€'C e lzte (1
eeL'ze - 2eL'ze | 89L'6L - 89261 89261 - 89/'6L  |66E'}) - 66€ L1 bh e wsk (1
162°€C - 162'€2 802'02 - 802'02 802'02 - 802'0c  |€8L'E} - €8'€l (+1) k3byh 2
2LS') - 2.8t 006 - 006 006 - 006 202 - 20e # kete (A
- - - b - b b - b - - - Liipe pebin
e ke 2lble (1
- - - - - - - - - - - - Lize Plins e 13l (1
0L - 0L Ly - Ly Ly - Ly 18 - 18 Lipe B dielapiti (1
Zr9't - Zr9't 876 - 86 86 - 86 €82 - €82 (AR D) lokB dlle LBe "9
-_ -_— -_— -_— - -_ -_— -_— - -_ -_ - th/lﬁm .m
L2L9 - LeL'9 €LL} - €LL°) €LL) - €LL1 209 - 209 lokkl| Slie
2ie slehy hiap die 1Bk Y
- - - - - - - - - - - - Elg 1512h g k)
108'7 - L08'y geo'zh - geo'eh geo'zh - Geo'ch  [L60°G - L60'S hibfeleb kb2 kiab] €
€e - 33 vL - vL vL - L rA4 - [ Bkl lalhlt g
ov - ov og - og 0e - og €2 - € ® kete (X
919 - 919 Sv9 - Sv9 Sv9 - Sv9 98¢ - 98¢ bajean (x
- - - - - - - - - - - - Lkela) xlpe BlspEle hib (X
- - - ot - ot ov - oY - - - InbISh 2|je lo2hif BB (1A
= - - = - = = = - = - - Ellelle (1A
LET - LET G26 - 526 526 - g26 8 - 178 kbl ke dlje Lebfle (1A
0 - 0s Gl - Gl Gl - Gl - - - Eblhewh (A
- - - - - - - - - - - - blebl ps (M
- - - - - - - - - - - - EbIhfsh (1
- - - - - - - - - - - - Lk Wi o ok (1
9v0't - 9y0°t oy - oy oy - or 98 - 98 Enlhoe it (1
€90y - €90y G69°L - G69°L G69°L - G69°L 9€€’l - 9’} (1 £ 1) hlbotohlt Sk b ki |
e9g’'or |- 29s'or  |geg’le |- gee’se  |see’le |- gee’se  |6vLle - 6vi'le (011 1) hiek wislte (B1)
- - - - - - - - - - - - )
ozt - 0Tyt 9Lv'L - 9Ly} 9Lv'L - 9Lyt kS - 1S lnlkeatp dlfe 11 slojller °8
- - - - - - - - - - - - lolkeat 1t Jlvb S@h| kete
2t Bliskie bajblle bllio bafbble <2
61E0L - 61E°01 bLEL - bLEL LLEL - LLEL 6 - 6 Bleb| b21s 9
€98 - €98 06¥ - 06¥ 06¥ - 06% €02 - €0e Blblie °G
608'81 - 60881 YEQ'YL - PEQ'YL PEQ'YL - vEQ'YL  |69L0L - 69L°0k Lbezks de blhlle bl Y
0s - 0s 0 - 0S 0S - 0S - - - lolkeatb tlbrlh '€
1822 - 1822 2802 - 2802 2502 - 2502 809°¢ - 809°c fradlb tekjiobl i IBotblk) g
80€ - 80€ 8t - 8t 8el - 8l 695 - 695 bldk de bt ‘LB Lela) |
150've - 150've | L1202 - L2'oe Loz |- Lg'oz  |8ve'st - 812’1 (68 1) bk winjinik (%)
619'vL - 619'v. | SbS'LS - S¥S'.S | 9¥S'LS |- 9vS'/S  |96€'9€ - 96€°9€ (Br+t%) Riwb) °}
26118 - 26118 |2ELI9 - 2ELI9  |e2eL9 |- 2EL'L9  |991L'6E ley 6€L'88 (2+ 1) krexjh ysh e |
$(1L318 1B k)
G8E'66 ¥88'v1 L0S'¥8 | 282'6L 60S°El €/1'S9 | Sl2'6L 205°E} €LL'S9  |LbL)S ¥S0°k1 £69°0% 1n2Bbk lish 1
€.9'682'} |€L1'S02'} |L0S'V8  |¥99'02e'} |168'VSL'L |€44'G9 | 2/8'Me2‘t | 660'9SL'} |€LL'S9  |l2€'606  |v€9'898  |€69°0F (X & 1) o2y oh 6
€l 2k L oL 6 8 L 9 S 4 € 2 L
Loz MWhisle [l Wtk e o O Whisle [l |0 Al el
(klbBle 210b) (ewmbie prIsH) (k1bBie 218p) (1BR) bh
01-6002 60-8002 60-8002 80-2002
(ahe BIb)

LRk
(pd2) pbo Bliljsh % I&K BRIISSY Rib WShilkp] Mie [kl (AL 20400

391



ae 2009-10 F SET HT FETIT

T fa=t

828'c - 828'c 0lg'y - 0y 0lG'y - 018y v6E'L - v6e'L albislexh PBB| 9
- - - - - - - - - - - - 2te ‘slihy btk 2o Bk °G
et - ek ek - ek ek - o]} L9 - ] ey
- - - - - - - - - - - - loblsks 2l 26k BB '€
- - - - - - - - - - - - loberr bolo b B g
- - - - - - - - - - - - Eble bht |
60e's - 60g'e o'y - o'y o'y - o'y §S6°t - §56'1 (org :Ew&% (&
ot ot - ot ot - ot ot - - - - L
ov oy - oy oy - oy oy - L L - (blblte) cﬁ%ﬁﬁw 9
- - - - - - - - - - - - Blblle G
- - - - - - - - - - - - beaps dle blhlie bls 'y
- - - - - - - - - - - - lolkbrlbrh €
- - - - - - - - - - - - bsloy tobliopl dje LBoblb] g
- - - - - - - - - - - - BBk e bk ‘b “Ilg] CH
0s 0s - 0s 0s - 0s 0s - L L - (28 1) ek W)k (%
6se'e 0s 60€'e 169'v 0s o'y 169'v 0s o'y 296'L L 6G6'1 (Br+ %) kislkE hinIRItbb) |
606°'c 009 60e'e Ie's 009 o'y Ie's 009 o'y €292 :1¥ 6S6°} (2+ 1) hriltedite Inte 18 11tob Rolk “Al
— — — — — — — — — — — — WTM N
69 69 - 99 99 - 99 99 - 99 99 - Itk 3] % lhlbr hlab] "9
- - - - - - - - - - - - httlie klhjfete & 5% °G
6¢ 6¢ - ey ey - ey ey - 6¢ 6¢ - e (1
- - - - - - - - - - - - balr bl ¢ Lielohlie LOIBIK (|
62 6¢ - ra4 a4 - ra4 ra4 - 62 62 - (18 1) xbbiele 'y
L0} L0} - eHt eHt - 201 201 - 6 6 - bilbr Dol 1218 3+0 €
! ! - e 2 - 2 z - z e - bl Ikl ls 2
- - - - - - - - - - - - Lkdb [plio b 23h IDRIBR
Lelole bl 6 llelohite eIl p fri)
989't 989} - G99't G99't - G99't S99't - 2es't 2es't - bl Lol koly )
£58't €98'1 - 888°L 888'l - 188°L 188°t - veL'l veL'tL - (22 1) wiek 1o otk 1w 5w I
ovl ovl - ovl ovl - ovl orl - orl ork - Sl ioklieh bff 4 ity
0v6't (o - €80'2 €80'C - €802 €802 - 0512 05+'e - kete '8
ovL ovL - vy vy - vy vy - ole oLe - IERIRDIE Rkl L3l Ib thikhirakn “L
0507 050y - 050'7 0507 - 050'7 050y - - - - hitilte flhjlsie kb b bloy] kIR "9
oz otz - oz otz - oz ole - €z gee - Lok 1 halebe
Bl ID3162P Rl °G
ove't ove't - 026 026 - 026 026 - €9 €9 - Itk b Slblk "y
- - - - - - - - - - - - Lok B Lblo ket 2 slielbn €
St Gt - 9% 9% - 9% 92 - Lz Lz - Lotk 2 Ipsliebdn g
9818 981'8 - 80€'L 80€°L - 80€'L 80€'L - 028'y 028y - Lotk sl “|
Isv'ol 189l |- LL0'SH L0'sE |- LL0'SH Lo'sk |- vLL'8 vLL's - (84 |) bllre 1% o wrplte Il
€.5'9 - €459 98s'c - 98s'c 98s'c - 985'c 692 Ley are'e (DR Pelbip) Bkl 2
- - - - - - - - - - - - 00 ke (I
g - S L - L L - H - - - k2Rh (1
S - S L - L L - L - - - (1 +1) nle blllie klblk Ok
- - - - - - - - - - - - Dusb el s el I CREE, 6
€l 2t H ot 6 8 L 9 S v € z i
s seEd Ll e B AR il
(elnbie 2lp) (ewmfie prIsH) (klnbie 21b) ((1555Y) Bh
01-6002 60-8002 60-8002 80-2002
(nha Brk)

pLiny
(ps) ke DIh t 182K DRJIASW RIb PSRk e ol AL 1N

392



UReT IV

_ - - - (+) e / (-) 2lb
AEVE%EBE@EM
ere'LL yoL'eL yoL'eL sLyLL (+) pbth jt / (<) 1pltk] B
(12BE]) IDIEY 18bE) BI& 1%k Il
2e0°0v- 158'e- ozl'e- Iv6's- Kla bz (B
Lsg'e- are6's- 9Lv'y- 6£v'L- hlg ke (4
6/9'9¢- 6852 962‘L 86v'L (e / () Bk ke Mg 12wE I
eev'se- 6ve‘alL 090°GL 9162l (Mpt=n)
EETVE\:VEE ‘R
eev'se- 6ve‘glL 090°G1 SL6‘2h (B +%) (-) 21k / (+) hidh)ie Byhp L
182" Ly~ 068'‘se- 6LL'LE- 958'G- (-) 121k / (+) hidRle thIBIE Jsh "B
y08‘Le 6e2'2s 6€2'2s L2281 (=) 121 / (+) hIGRIe 2h IDIEY PYsl
000°G8 000's8 - 29218 292’18 |- 29218 29218 8/8'08 8/8'98 - Inkiky “IIX
- - - - - - - - - - - Eblkklbl b hit Ibthhlle “IX
90% 90v - 9oy 90v - 90w 90v 8¢ 8z¢ - ke
006799  |006%99 |- 696'v99  |696'v99 |- 69699 | 696799 - - - lelally Il Blh % slielbrlie €
LoLLLE  |LokiLe |- 000‘cee  |ooo'eee |- 000‘cee | 000‘€EE 1YS'9LL ws'olL |- 1B Labb kg [k g
Ge9'l ge9'l - G9G°1 G9G°L - G9G°L G9G°L 86L°L 86.°L - bhe '}
2v0'8E0‘L |2r0'8E0‘t |- 0v6'666 |0v6°666 |- 016'666 | 0¥6'666 £99'8LL  |L99'8LL |- (FRT) BBl Mie bRE "X
- - - - - - - - - - - kete b
152y 162y - 20L'e 20L'e - 20L'e 20L'e €52y €52y - hftjie bblp| '€
4 4 - 4 4 - 4 4 - - - Iela|iblbio 1% k] klbltsy g
1££'8g Lee'8e - 0e5'v2 0£5'vg - 0e5'v2 0£5'v2 66062 66062 - Il IR |
0652 065'2e - vee'se vee'se - ¥€2'82 ¥€2'8e 2se'ee 2se'ee - (v2 1) hripede e “XI
892°1 892°1 - €2l €21 - 1eg'L 1eg'L 922l 92zl - kete ¥
- - - - - - - - - - - Kltb balr blble "€
gL ger'l - 8/E°L 8/g'1 - 8/g'1 8/g'1 602 G/0'g - Iehjb| bRllalod g
- - - - - - - - - - - liefajte] DR lnxcblok / BI2oE: )
0692 0692 - 609°2 609°2 - 6092 6092 Loe‘'e Loe‘e - (PR 1) Lok BiRRe “NIA
- - - - - - - - - - - kete g
916'9 9169 - 205°s 205°'s - 205's 205°'s €95°G £95°G - hlk] bablb koly |
9169 916'9 - 205°S 205°S - 205‘S 205‘S €95°G €95°G - (2+1) 2jte ‘RiE| Fablis ‘Db hate “IIA
000°12 000°'12 - 98261 98261 - 000°12 000°12 0286 028°6 - Bt Ibbhwlle IA
- - - - - - - - - - - Lelehil plRoleebie A
- - - - - - - - - - - Rle) (B
0SS 0SS - 0SS 0SS - 0SS 0SS Lz L. - (Lelble % hlblie) Lrlkh bk (%
0SS 0sS - 0SS 0SS - 0SS 0SS Lz Lz - (B2 + ) BIS|RE RIBIBIDBI-M. 2
0se - 0s€ - - - - - - - - kete 0L
- - - - - - - - - - - blebllalblli '6
- - - - - - - - 00 - 005 lokB dlie LIRS kele '8
- - - - - - - - - - - Lee o dlje lalplte *2
gl 2L L oL 6 8 L 9 v 3 2 L
Loz MWhisle [l Wtk e o O el wb Al el
(klbBle 210b) (ewmbie prIsH) (k1bBie 218p) (1BR) bh
01-6002 60-8002 60-8002 80-2002
(ah BHW)

PRIy
(pl) pre LLsh t NARE BRUISE WIb LShEIRE] HE fhalh AT RPN

393





